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A {x|1 <x <2} B. {x|1 <x <2}
C. {xlx < 2} D. {xlx < 1}
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A = B. c.= D.2
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A. (—o0,—1] B. (—,0) U (1, +)
C. [3,+) D. (—o0,—1] U [3, +0)
8. CHIBREL f(x) = —x3+ax? —x — 1 7E (—oo, +o0) [ & FIFREL, MSEE a FIHUETER 2 ( )
A. (=0, —V3] U [V3,+») B. [-V3,V3]
C. (=00, —v3) U (3, +00) D. (—3.3)
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12. Al c:%#}j—z =1(a>b>0) MEHESNF,F,, IFFxMELSCZT A BWA,
F,B 5 y#i T A D, # AD L F,B, WIE ¢ BB LEET

=, REE Gt4/hE; L4450
13. (10 %) fE AABC ", fi A, B, C WX 5N a, b, ¢, T.%1 2cos(B—C)+1=
4cosBcosC.
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(2) #a=2V7, AABC HITHFI N 2V3, Kb +c.
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(2) 4b, =log,a,,,, » n=1.2, REF| {b,} IRl n T T,.
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16. (1243 CHIREL f(x) =Inx + bx — ¢, f(x) 768 (1, (D) &eWPIZ RN x+y+4=0.
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